Time: 3 hrs. Max. Marks:100
Note: 1. Answer any FIVE full questions choosing at least two questions from ¢ach part.
2. Interest factors tables permitted.
Part A
1 a. Explain with suitabie / reievant exampies different engineering cconomic problems an engincer
confronts with, in day-to-day life. (05 Marks)
b. An engineering economist solves problems and wkes appropnate decisions using time honourcd
scientific method. Explain with a suitable diagram, (0S5 Marks)
c. Explain how cash flow diagrams (CFD) arc helpful to the decision maker 0 understand and solve
engineering economic problcms. Draw neat sketches of differcnt versions of cash flow diagrams, and
give borrower’s and lender’s perspectives for cash flow diagrams. (10 Marks)
2 a. A pecson takes a loan of Rs.12€000/- from a bank at an interest of ) 8% P.A. Find the amount if the
tnterest 1s compounded, i) Annually ii} Half-ycarly (Scmi-Annually) i17) Quarterly and iv) Monthly.
(12 Marks)
b. Calculate the effective interest rate “ieff” of a nominal compound interest rate of 18% P.4 ., when
compounded i) Hall yearly and 1) Monthly. (08 Marks)
3 a. Listand explain the conditions for present worth comparisons. (10 Marks)
b. Two devices are available to perfonn a necessary function for 3 years. The initial cost (negative) for
cach device at time ¢ and subsequent annual savings (positive) are shown in the foliowing table.
Comparc the net prescnt worth of these two devices when the required interest rate is 8%. Draw the
cash flow diagram. (16 Marks)
YEAR
— ugoo 55'00 - 5’—’00 - 300 (P:A, 8,3) =2 57715 (Pids 8:2) = 118326; (P/F, 8, 3) = 0.79383
Device B | 13000 | 600¢ | 6200 [ 8000
4 a.  With examples give definitions of Asset life. Why land prices do not get depreciated? (10 Marks)
b. Fxplain the concept and philosophy of use of a sinking fund. (10 Marks)
e DPart B : S W e e L~ ——a,
5 a. What do you understand by Minimum Acceplablé Rate of Return {MARR) and Intcmai Rate of
~ Return (IRR). (10 Marks)
b. Explain with examples the various causes of depreciation. (10 Marks)
6 a. With a neat sketch explain the composition of costs traditionally used in accounting for the price of a
manufactured product. (10 Marks)
Explain life cycle costing with a neat sketch. (10 Marks)
7 Write the balancs shect equation. Following is the year end detaiis of a company:
| Equity 200000
| Bank Balance 10000
Dividend pavable 72008
Provision-for tax 40000
Prefcrence sharcs 135000
 Land and building 200000
Debtors 265000 | Prepare the Balance sheet. (10 Marks)
Bills payabie 20000
| _Plant and equipment B 80000
Bills receivable " 1 - 20000} - e AT &
{ General resceves 40000
| Cash in hand - 15900
Stock . 77000
| Creditoss 160000
b. Define the following with suitable equations: i) current ratio ii) acid test ratio iii) debt equity ratio
iv) Gross profit ratio v) Net profit margin ratio. (10 Marks)
8 Writc short notes on any four of the following:
@. Intuition an analysis. b. Present worth by the 72 rule”.
WW(YVVI&QH yc&mract for guarantccd income. d. Tactics and strategy.
e. Comparisons of assets having unequal lives  f. Sales budget OR Production budget. (26 Marks)
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